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ds_rms vs run
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yield_bpmOIO1WS rms vs run
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yield _bpmOIO4WS _rms vs run
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yield _bpmOIO6WS_rms vs run
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yield_bpmOIO7WS_rms vs run
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yield _bpmOIO9WS rms vs run
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yield_bpmOrO5WS_rms vs run
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yield_bpmO0i02WS_mean vs run

pulllD

35

Entries

-2.689

Mean

5.3

Std Dev

1.041e+05/ 34
1.348e+05

/ ndf

XZ

+ 0.1573

p0

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

3
134,95 FL e

134.9

134.85

134.8
134.75

134.7

134.65

134.6

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

'€6.S

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

‘0615

'06.S
‘6815

'68.S
'68.S

‘6815

'68.S

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

35
44.1
20.42

0




yield _bpmOiO2WS_rms vs run
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yield_bpm0i02aWS_rms vs run
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yield _bpmOIiO5WS_rms vs run
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yield_bpmOi07WS_mean vs run
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yield _bpmOiO7WS_rms vs run
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02WS_mean vs run
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yield _bpm1i02WS_rms vs run

< O
o O
- M
o
g < p
Y
9+_
et .
—i o
°
V-
d H
c Y
-~ Y
o O
< Qo -
°
-
Y
>
Y
°
@
Y
-
Y
°
Y
Ty
Y
Y
vy
L 111 [ | 1 | 1 (I | L 111
o o o o o o o
(o] Lo < (40 (q\] — o
— — — — — — —

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

'68.9

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



yield_bpm1i04WS_mean vs run
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yield _bpm1i04WS_rms vs run
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yield _bpm1i06WS_rms vs run
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yield_bpm2i01WS_mean vs run
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yield_bpm2i01WS_rms vs run
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yield_bpm2i02WS_mean vs run
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yield _bpm2i02WS_rms vs run
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bcm_an _ds rms vs run
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yield_bpm12Y_rms vs run
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<+ ©
M O
> o
S o
? ~
o ©
0 o
S +
o)
N 0
©
—
o
=
o
Y—
S
[
~~
N (@)
< o
[ ]

0.007

0.005

0.003

0.001

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

o
(2]
~
[Te]

‘0645
'68.S

‘68159
'68.S

‘6819

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



02X _mean vs run
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01X _mean vs run
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yield_bpmOIO1lY_ rms vs run

<+ ©
M O
= 9
B ©
—i
+
o P
o N~
@+
N
5
©
e}
o
S
o
Y—
S
[
~~
N (@)
< o
L 11

[
oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

‘6819

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



pulllD

35

Entries

-5.033

Mean

0

Std Dev

7.08e+05/ 34
-1.344

/ ndf

2

X
p

—-05

3.015e

+

0

X_mean vs run

Id_bpm0I02

yie

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

'€6.S

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

o
[
~
wn

'06.S
‘6815

'68.S
'68.S

‘6815

'68.S

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

0.2

35
8.948
16.63

oLLL I|I II|I II|I II| III| 111 |III |II

-200

-300

-400



yield_bpmOI02X_ rms vs run

< 0
™M O
5 b
o)
ol
T © b
—
o <. o
o10_2
[ }
X -+
- © °
N °
©
— lo
o °
o [ ]
[V
.m °
— °
N o ()
< o o
[ J
[ )
[ }
[ )
(]
[ ]
[ ]
[ ]
[ ]
(]
[
[ )
[ ]
[
[ )
[
®
_ ﬁ [ I B _
i 0 © <t I
(@) o o o o
o ) o o

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

‘6819

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



Y_mean vs run

Id_bpm0I02

yie

pulllD

35

Entries

-4.121
0

Mean
Std Dev

1.983e+06 / 34

/ ndf
0.8138

XZ

—-05

+ 1.944e

p0

0LBB[ T

084 +esereeesse i

0.2 oo

0.7

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

'€6.S

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

o
[
~
wn

'06.S
‘6815

'68.S
'68.S

‘6815

'68.S

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

0.2

oliviliy




yield_bpmOIO2Y_rms vs run

< W0
M o
5 b
N
T
o M
N
o
S &
g
o
—
)
o
[V -
©
[
~~
N o
< o
[ )
[ |

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

‘6819

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



X_mean vs run

|d_bpmO0I03

yie

pulllD

wn < [Te}
™ (=] [Tel
3 @
@ <~
? T
' >
0 O
2 s =] —
€ o = ]
L = (7] —
[
[
[
L | L L L | L L L L L

2.986e+04 / 34

/ ndf
-3.243

XZ

+ 0.0001733

p0

B2

SBL2B [ g

SBL2B e

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

[s2]
[
~
wn

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

o
[
~
wn

'06.S
‘6815

'68.S
'68.S

‘6815

'68.S

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

35
8.747
10.94

0




yield_bpmOIO3X_rms vs run

< W
M
2 o
)
¥ 8 ‘
> ©
Y [ ]
ﬂ o
[ )
™ H" °
— m
oY
o °
o
o
([ J
[V
2
- [ J
N mmw ®
=< [ ]
[ ]
([ J
[ )
[ ]
®
[ ]
[ |
[ ]
[ ]
[ ]
o
o
[ ]
o
[
[ ]
[ ]
[ ]
Ll L] _ Lov o ha b
< O ™ Te) N Ty T Te)
o ™ o N o — o o
o o o o

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

'68.9

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



Y_mean vs run

|d_bpmO0I03

yie

pulllD

35

Entries

5.249

Mean

1.661

Std Dev

1.415e+05/ 34
2.174

/ ndf

2

X
p

+ 0.0001755

0

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

'€6.S

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

o
[
~
wn

'06.S
‘6815

'68.S
'68.S

‘6815

'68LS

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

0.2

35

-49.83
64.7

olLLL I|I II|I II|I II| III| 11 |III |II




yield_bpmOIO3Y_rms vs run

1.359e+05/ 34
0.09317 +0.0001241

X2 I ndf

p0O

P_ o}
o o
o

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

'68.9

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



X_mean vs run

Id_bpm0I04

yie

pulllD
35
0
0

Entries
Mean
Std Dev

1.402e+06 / 34
-0.4125

X2 I ndf
pO

-05

0.6

3.351e

+

..........................................

=035 ey

2055 [ e

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

[s2]
[
~
wn

'€6.S

'26.S
¢6LS

26.S

¢6.LS

161G
‘0645

o
[
~
wn

'06.S
‘6815

'68.S
'68.S

‘6815

'68.S

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

0.2

oLLL I|I II|I II|I II| III| 111 |III |II




yield_bpmOI04X_rms vs run

1.609e+05/ 34
0.01739 + 2.369e-05

X2 I ndf

p0O

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

‘6819

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



pulllD

35

Entries

-4.499

Mean

Std Dev  1.103

—-06

7.951e+05/ 34
+ 6.513e

0.5926

x2 I ndf
p0

Y_mean vs run

Id_bpm0I04

yie

co 7 amtwo oo Tamto "noo T amo "ot w oo o -

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

'€6.S

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

o
[
~
wn

'06.S
‘6815

'68.S
'68.S

‘6815

'68LS

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

0.2

35

-24.51
41.04

-100




yield_bpmOIO4Y_rms vs run

< ©
™m O
3 &
S
+ mw °
Qo -
o < °
N.+_ °
©
~ [ )
© °
™
=) [ )
o
o °
(V-
o] o
c °
~~
N mmw ()
< [ ]
[ }
[ ]
[ J
(]
[ }
o
[ }
[ )
[}
[ )
[ )
[ )
[ ]
(]
[
o
[
[

_ L1 _ _
<t 9\ — 0 © <t N
— — o o o o o
o o o o o o o
o o o o o o

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

‘6819

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



X_mean vs run

|d_bpmO0IO05

yie

pulllD

35

Entries

Mean

0

Std Dev

2.413e+06/ 34
0.5071

/ ndf

XZ

—-05

+ 1.598e

p0

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

[s2]
[
~
wn

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

o
[
~
wn

'06.S
‘6815

'68.S
'68.S

‘6815

'68.S

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

0.2

oLLL I|I II|I II|I II| III| 111 |III |II




yield_bpmOIO5X_rms vs run

1.417e+05/ 34

0.008442 +1.13e-05

X2 I ndf

p0O

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

'68.9

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



Y_mean vs run

|d_bpmO0IO05

yie

pulllD

35

Entries

Mean

0

Std Dev

5.675e+06 / 34
2.659

X2/ ndf

1.692e-05

+

pO

2.65

co 7 amtwo oo Tamto "noo T amo "ot w oo o -

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

'€6.S

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

‘0615

'06.S
‘6815

'68.S
'68.S

‘6815

'68LS

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

0.2

olLLL I|I II|I II|I II| III| 111 |III |II




yield_bpmOIO5Y_rms vs run

1.881e+05/ 34

0.008556 + 1.196e-05

x? / ndf

pO

e’ o000e00%00®

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9
'S6.S
V6.9
6.5

v6.S

‘€6.S
‘€649

‘€619
‘€649

‘€619
‘€649
‘€649

2615
6.9

'¢6.S
'¢6.S

‘1649
‘0645

‘0649
‘0645
'68.S

‘68159
'68.S

'68.9
'68.S
‘8819

88159

/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9
'/8LS
9819



yield_bpmOI06X_mean vs run

21—

2.05—

X2/ ndf  9.323e+07/34
pO 2.005 £ 1.193e-05

1.95—

19—

1.85—

5787. 0
5787. 1
5787. 4
5787. 5
5787. 6
5789. 0
5789. 1
5789. 2
5789. 3
5789. 4
5790. 0
5790. 1
5790. 2
5791. 0
5792. 0
5792. 1
5793. 0
5793. 1
5793. 2
5793

5793. 5
5793. 6
5794. 0
5794. 1
5794. 2
5795. 0
5795. 1

2000

1000

-1000

-2000

-3000

35
786.2
769.6

0.8

0.6

0.4

0.2

pulllD

Entries

- Mean

Std Dev

35

0

-8 -6 -4 -2 0 2 4 6




'S6.9
'S6.S
V6.9

V6.5
V6.9

‘€6.S
‘€649

‘€619
‘€649

‘€619
‘€649
‘€649

8.303e+04 / 34

0.006626 + 8.437e—-06
o

x? / ndf

pO

yield_bpmOIO6X_rms vs run

2615
6.9

'¢6.S
'¢6.S

‘1649
‘0645

‘0649
‘0645
'68.S

‘68159
'68.S

'68.9
'68.S

‘8819
‘8819

/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9
'/8LS
9819

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

___4____F____
w© )

| Lol
LD ™ L0 N
o o N )
< o < oS
o oS

0.01
0



pulllD

35

Entries

Mean

0

Std Dev

3.636e+06 / 34

/ ndf
-1.437

XZ

—-06

+

p0

Y_mean vs run

|d_bpmO0I06

yie

5.034e
®

-1.44

—-1.445

Y |
_.01____

S,
7

Lol
9] ©
<
T

-1.45

co 7 amtwo oo Tamto "noo T amo "ot w oo o -

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

'€6.S

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

‘0615

'06.S
‘6815

'68.S
'68.S

‘6815

'68LS

‘8819

‘8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

olLLL I|I II|I II|I II| III| 111 |III |II

35

-45.6
61.34




yield_bpmOIO6Y_rms vs run

9.335e+04 / 34

0.002772 + 3.559e-06

x? / ndf

pO

0.012

0.008

0.006

0.004

0.002

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

‘6819

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



pulllD

35
[
0

Entries
Mean
Std Dev

-05

olLLL I|I II|I II|I II| III| 111 |III |II

0.6
0.2

35

6.231e+06 / 34
+1.92e

-0.448

X2/ ndf
po

X_mean vs run

Id_bpm0I07

yie

1.568e+04
1.566e+04

g6ls |3

Qj
‘661G
‘761G

V6.5
V6.5

'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S
'€6.S
'€6.S

'26.S
¢6LS

26.S
¢6.LS

‘T6.S
‘0645

Entries
Mean
Std Dev

o
[
~
wn

'06.S
‘6815

‘6815
'68.S

‘6815
'68LS

‘8819
‘8815

'18LS
1815
'L8.S

181§
1815

ASYAS]
1815
‘9815

co 7 amtwo oo Tamto "noo T amo "ot w oo o -

-0.38

-800



yield_bpmOIO7X_rms vs run

< W
m O
< 1
3 8
? ©
o M
o <l
Q
O
)
i
i
Q
o
[V -
S
c
~~
N o
< o
[ J
111l

"N N

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

‘6819

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



Y_mean vs run

Id_bpm0I07

yie

pulllD

35
[
0

Entries
Mean
Std Dev

1.272e+06 / 34
0.7191

/ ndf

XZ

—-06

+ 4.964e

0

.o P

0.725

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

[s2]
[
~
wn

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

o
[
~
wn

'06.S
‘6815

'68.S
'68.S

‘6815

'68LS

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

olLLL I|I II|I II|I II| III| 111 |III |II

35
-16.79

31.22

-100
=200




yield_bpmOIO7Y_rms vs run

< ©
Mm O
&
Ml
T ©
%3
L H
3 e
™~ N
o
o
o
[T
S
c
~
o O
< o
[ ]
HRENEN

e " %cee0000°"

0.022—
0.02—
0.018—

0.002—

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

‘0649

‘0645
'68.S

‘68159
'68.S

'68.9

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



X_mean vs run

|d_bpmO0I08

yie

pulllD

35

Entries

0.8493

Mean

Std Dev  3.175

4,982e+04 / 34

/ ndf
0.0735

XZ

—-05

+1.617e

p0

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

[s2]
[
~
wn

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

o
[
~
wn

'06.S
‘6815

'68.S
'68.S

‘6815

'68.S

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

35
89.44
75.47

0




yield_bpmOIO8X_ rms vs run

3.735e+04 / 34

0.009304 + 1.143e-05

x? / ndf

pO

e 00 0 e 0 s ee0°

oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

'S6.9

'S6.S
V6.9

V6.5

v6.S
‘€6.S
‘€649

‘€619
‘€649

‘€619

‘€649

‘€649

2615
6.9

'¢6.S

'¢6.S

‘1649
‘0645

o
(2]
~
[Te]

‘0645
'68.S

‘68159
'68.S

‘6819

'68.S

‘8819

88159
/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9

'/8LS
9819



Y_mean vs run

|d_bpmO0I08

yie

pulllD

35

Entries

Mean

0

Std Dev

9.393e+05/ 34
-0.1291

x2 I ndf
p0

-05

+ 1.204e

co 7 amtwo oo Tamto "noo T amo "ot w oo o -

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

'€6.S

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

‘0615

'06.S
‘6815

'68.S
'68.S

‘6815

'68LS

‘8819

‘8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

olLLL I|I II|I II|I II| III| 111 |III |II




yield_bpmOIO8Y_rms vs run
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yield_bpmOI0O9X rms vs run
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yield_bpmOI10Y_rms vs run
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yield _bpmOr03X_rms vs run
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X_mean vs run

|d_bpmOro5

yie

pulllD

35

Entries

-2.194

Mean

Std Dev  2.528

1.961e+04/ 34

x2 I ndf

0.04935 + 0.0001407

p0

co T anmtmwmo oo Tamto Tnoo T amo Taumtsw oot wno

'S6.S

'S6.S
V6.LS

V6.5

V6.5
'€6.S
'€6.S

'€6.S
'€6.LS

'€6.S

'€6.S

'€6.S

'26.S
¢6LS

26.S

¢6.LS

‘T6.S
‘0645

‘0615

'06.S
‘6815

'68.S
'68.S

‘6815

'68.S

‘8815

8815
'18LS
1815
'L8.S

181§
1815

ASYAS]

1815
‘9815

0.2

oLLL I|I 11 III| III| 111

35
253.7

233.4

1
o
g

.._;; _0_ 11

)
~ ° A%




yield_bpmOr05X_rms vs run
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Y_mean vs run
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yield_bpmOrO5Y_rms vs run
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epics_VWienAngles_mean vs run
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epics_HWienAngles_mean vs run
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epics_psub_pl _poss_mean vs run
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s_Phi_FGs_mean vs run
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